# Hong Kong Lawn Bowls Association

# **Debtors Outstanding List as at 17/9/2012**

	T			T .
Club	Due Under 30 Days	Due 30 to 90 Days	Over 90 Days	Total Amount
AYFP	1,680.00	800.00	8,320.00	10,800.00
CCC	10,000.00	0.00	0.00	10,000.00
CdeR	0.00	100.00	0.00	100.00
CLBC	1,040.00	200.00	0.00	1,240.00
CLP	320.00	200.00	2,140.00	2,660.00
GLBC	5,000.00	0.00	0.00	5,000.00
HEGSC	0.00	0.00	880.00	880.00
HKFC	10,000.00	0.00	0.00	10,000.00
HKJC	0.00	100.00	0.00	100.00
НКРВС	5,000.00	0.00	25,000.00	30,000.00
HKSAP	0.00	100.00	0.00	100.00
LBTC	0.00	0.00	9,420.00	9,420.00
PDLBC	480.00	200.00	0.00	680.00
STSA	7,560.00	550.00	0.00	8,110.00
TKOBC	1,600.00	400.00	0.00	2,000.00
TMSA	1,760.00	300.00	6,120.00	8,180.00
USRC	8,280.00	900.00	4,580.00	13,760.00
VLBC	6,280.00	200.00	0.00	6,480.00
WISC	800.00	200.00	0.00	1,000.00
Total	59,800.00	4,250.00	56,460.00	120,510.00

# Hong Kong Lawn Bowls Association Council Meeting on 17 September, 2012 at KCC Report from VP National Championships

## Men & Women National Singles

Round 4 was finished on 16 September, 2012

## **Mixed Triples**

Round 3 was finished on 11 September, 2012

# **Men National Indoor Singles**

Round 5 was finished on 10 September, 2012

# **Women National Indoor Singles**

Semi-final and Final will be played on 20 September, 2012 (Thur)

### Remarks:

The new annual schedule (2012-2013) will be sent out to all Club Convenors for comment and be approved in next council meeting.

#### Hong Kong Lawn Bowls Association

٤ (14/9/2012

#### World Bowls Championships 2012

#### - Estimated Budget

Venue: Adelaide, Australia Period: 18/11-11/12/2012 (25 days) Practice dates: 21-23/2012 (3 days) Event dates: 24/11-9/12/2012 (16 days)

Officials: 2 Team managers (Warren Kwok & Sanie Ng)

Players: 5 men & 5 women (10 persons)

Total: 12 persons

	Items	Estimated Expenditure (in H	IKD)
1	Airfares & Taxes \$9100 x 12 pax		109,200
2	Accommodation AUD 13,706 @8		109,648
3	Insurance \$546 x 12 pax		6,552
4	Airport transfer \$200 x 12 pax		2,400
5	Meal allowance a) Breakfast \$80 @ 264 a) Lunches \$110 @ 60 b) Dinners \$170 @ 240	21,120 6,600 40,800	68,520
6	Overseas Internal transport a) Rental of 12 seater van : AUD6490 for 22 days b) Return airport transfer AUD775	51,920 6,200	58,120
7	Overseas fax & telephone		800
8	Souvenirs		1,200
9	Uniforms - sports gears a) Shirts \$76 x 48 pcs b) Trousers \$230 X 23 pcs c) Track-suit \$305 x 3 sets d) Name badge \$23 x 1 pc e) Bowls shoes \$480 x 5 pairs f) Fleecy vest \$105 x 8 pcs	3,648 5,290 915 23 2,400 840	13,116
10	Flag presentation		4,000
11	Allowance for Team Managers \$1800 x 2 pax		3,600
12	Laundry \$20 x 12 pax x 20 days		4,800

Total: 381,956

#### World Bowls Annual Council Meeting

- Estimated Budget

as at 14/9/2012

Venue: Adelaide, Australia Period: 4 - 12 Dec. 2012 (9 days) Event dates: 6 Dec., 2012

Official: 1 persons (Vincent Cheung-President)

#### Estimated

		CSUM3	ied
	Items	Expenditure	(in HKD)
1	Airfares		4,380
2	Departure / Government tax		3,200
3	Accommodation \$800 x 8 days		6,400
4	Insurance		323
5	Airport transfer		200
6	Meal allowance a) Breakfast \$80 @ 8 b) Lunches \$110 @ 8 c) Dinners \$170 @ 8 d) Dinner with host club	640 880 1,360 5,000	7,880
7	Overseas Internal transport a) Rental of car b) Return airport transfer	4,000 500	4,500
8	Overseas fax & telephone		500
9	Souvenirs		1,000
10	Visa		100
11	Laundry \$20 x 7 days		140
		Total :	28,623

#### Asia Pacific Merdeka Singles, Mixed Pairs & Mixed Fours Indoor Championships 2012

#### - Estimated Budget

as at 14/9/2012

Venue: Selangor, Malaysia Period: 29/9-7/10/2012 (9 days) Event dates: 30/9-6/10/2012 (7 days) Officials: 1 Team manager (Warren Kwok)

Players: 4 players (Tony Cheung, Walter Kwok, Queenie Lai & Vivian Yip)

Total: 5 persons

	Items	Estimated Expenditure (in HKD)	
1	Airfares \$1990 x 5 pax		9,950
2	Departure / Government tax \$795 x 5 pax		3,975
3	Accommodation and meal package for Team Manager US800@7.8		6,240
4	Insurance \$298 x 5 pax		1,490
5	Airport transfer \$200 x 5 pax		1,000
6	Meal allowance a) Lunches \$100 x 5 pax x 1 day b) Dinners \$130 x 5 pax x 4 days	500 2,600	3,100
7	Overseas Internal transport		2,000
8	Overseas fax & telephone		300
9	Souvenirs		1,000
10	Uniforms a) Shirts \$75 x 3 b) Trousers \$230 X 10 pcs c) Track-suit \$305 x 2 sets d) Name badge \$23 x 1 pc	225 2,300 610 23	3,135
11	Laundry \$20 x 5 pax x 7 days		700

Total:

32,890

#### HONG KONG LAWN BOWLS ASSOCIATION

as at 14/9/2012

#### World Champion of Champions Singles Championships 2012

- Estimated Budget

Venue: Paphos, Cyprus
Period: 20-29/10/2012 (10 days)
Event dates: 21-27/10/2012 (7 days)

Players: 2 players (Stanley Lai & Mercredi Yeung)

	Items	Estimated Expenditure (in HKD)
1	Airfares \$7200 x 2 pax	14,400
2	Departure / Government tax \$405 x 2 pax	810
3	Accomodation (provided by the host)	-
4	Insurance \$322 x 2 pax	644
5	Airport transfer \$200 x 2 pax	400
6	Meal allowance a) Lunches \$110 x 2 pax x 1 day b) Dinners \$170 x 2 pax x 7 days c) Name badge \$23 x 1 pc	2,623 220 2,380 23
7	Overseas Internal transport	1,000
8	Overseas fax & telephone	300
9	Souvenirs	500
10	Uniforms - sports gears a) Shirts \$85 x 3 pc + \$75 x 3 pcs b) Trousers \$230 X 4 pcs c) Track-suit \$305 x 1 set	1,555 330 920 305
11	Laundry \$20 x 2 pax x 6 days	240

Total: 22,472